Work Pack

Name:

Order of Operations

Order of Operations

Color the boxes with correct answers and cross out boxes with
incorrect answers. Each row has a word. Unscramble the letters
in each row to find the word.
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= 40 =55 Order of Operations Order of Operations

Answer the questions. Match the numbers with 1l Red=16  Orange=50  VYellow= 29 Green = 46
letters to find your answerl 1 Blue = 39 Purple = 53 Pink = 15

Roll the dice and try to get to the finish first.
Cars go up, Stop goes down, Blank space is rest.
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=100 =72 B-16+6xB5+5= C-70:7x4+8
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Answer:

T-16x2+b6x6=__ G-40<5+2x6

N-20-3x3+11= 0-6+5x5b+14=

Slambo 47 45 20 9 30 77 16
Resources

BO 16 60 60 16 77

60 bl 30 22 48 30 60 9




Slambo

Resources Name:
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Order of Operations

Solve the equation.

1. 8+4x3 + 10 =

2.7 x2 + 6 x6 =

.32 +4 +8xDbH-=

sPreview

.90+ 10 + 30 = 6 =

7.9%x4 + 4 x4 =

8.20 + 8 x 8 =

9.48 - 6 x 4 =

10. 60 + 8 x 5 =




Rmz?es Name:
-

Order of Operations Worksheets 1

Solve the equation.

1. 20+5x4 + 20 = 6. 17 + 9 x 7 =

2.36 +6+7x7 = 7.15-24 - 6 =

.99 +3 x3 = 9. 77 +11 + 6 x5 =

[T "Preview —

Name:

Solve the equation.

1.11 x8+4x3=___ 6.12+9x2=__
2.84-7x2=____ 7.11 x3+11x2=__
3.6x5+18+3=___ 8. 60+6x10=___
4. 54 -+ 9x4=__ 9. 12 +7 x4 =___

5. 32-20 + 4 = 10.55 + 5 x 7 =



Order of Operation - Exit Tickets

Name: Name:
12+8xb=__ 6x6+3x4=__
-_Name: Name:
36-9+8x2=__ 17-4x4=_
_Name: Name:

1ID+10x10+10 = 6x9+18=3-=
Name

e Proview: —
: Name:

Ax9+3x2-= 18-6 x 3 =

Name: Name:
O9xb+11xb5=__ 6x7+3x3=__
_jName: - Name:
8+1lx2=__ 63:9x5=
_jName: Name:

10+40+4+10= 8x8+4x4-=




Name:

Order of Operations

Color the boxes with correct answers and cross out boxes with
incorrect answers. Each row has a word. Unscramble the letters
in each row to find the word.

T

= 40

S

= 68

A
5x5+10x 2

6x6+4x9
=72

T
21+7 x7+7

=40 [:>=55 -95 - 33

81+9+9x9
=90

F
80+9x9+7
=168

50 - 108 =+ 1§

50+5x10
=90

E
15+6x5+5

=50
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Answer.




Name:

Order of Operations

Answer the questions. Match the numbers with the
letters to find your answer!

B-15+6x5+5= C-70-7x4+8-=

-60+32+4+9-= "L'16*4X6*11:

| .oRreview..

N-20-3x3+11= O-6+bHhxh+14 =

47 45 20 9 30 77 16

50 16 60 60 16 77

60 51 30 22 48 30 60 9




Name:

Order of Operations
Red = 16 Orange =50  Yellow = 29 Green = 46
Blue = 39 Purple = 53 Pink = 15

9+7x3

x2= -15=____

6+4x6 36-12+4
-15=__ X3=__

9+5x6 55-5+7
—\ " —

9x4+24




Order of Operations

Get to the finish first & answer questions on the way.
Cars go up, Stop goes down, Blank space is rest.
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Order of Operations

Solve the equation.

1.8+4x3 + 10=30

2.7x2+6x6 =50

.32 +4 +8x5 =48

sPreview

.90+ 10+ 30+ 6 =14

7.9%x4 +4 x4 =52
8.20+ 8 x8 =84
9.48 - 6 x4 = 32

10. 60 + 8 x 5 = 100



Rmr:es Name:
-

Order of Operations Worksheets 1

Solve the equation.

1.20+5x4 + 20 = 60 6.17 + 9 x7 =80

2.36 +6+7x7 =55 7.156-24 - 6 =11

.99+ 3 x3 =90 9. 77 +11 + 6 x5 =

" "PFEVIEW

Name:

Solve the equation.

1.11 x8+4x3 =100 6. 12 +9x2 =30

2.84-7x2=70 7.11 x3 +11 x2 =55
3.6x5+ 18 + 3 =36 8. 60 + 6 x 10 = 100
4. 54 - 9 x4 = 24 9.12 +7 x4 =40

5. 32-20 + 4 = 27 10.55 +5x7 =77



Order of Operation - Exit Tickets

Name: Name:
12+8x5=52 6x6+3x4=148
-_Name: Name:

36 -9+8x2=20 17 -4 x4 =1
_Name: Name:

1D +10x 10+ 10 = 120 6x9+18+3=60

Name:
o

K +i:5_Pxey AR _

Name:

Ax9+3x2=87 18-6x3=0
_7Name: Name:

9x5+11x5=100 6x7+3x3:=51
_7Name: - Name:

8+11x2=30 63-9xbH=35
_7Name: Name:

10+40+4+10=30 8x8+4x4=280




Name:

Order of Operations

Color the boxes with correct answers and cross out boxes with
incorrect answers. Each row has a word. Unscramble the letters
in each row to find the word.

80+9x9+7

THIS IS EASY FOR ME




Name:

Order of Operations

Answer the questions. Match the numbers with the
letters to find your answer!

B-15+6xb+5=50 C-70-7x4+8=48

-60+32+4+9=77 |—L—16+4x6+11:51

| ..Rreview. .,

N-20-3x3+11=22 0O-6+5x5+14-=45

D O G S A R E
47 45 20 9 30 77 16
B E T 7
50 16 60 60

T H A N
60 b1 30 22




